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QUESTION 1

Which two statements are true about Oracle Site Studio Manager?

A. To add Manager to your site, simply add the Site Studio Manager element to a page template
B. To add Manager to your site, simply add the Site Studio Manager fragment to a page template
C. One can create as many manager configuration settings files as one would like.

D. One can create only a single manager configuration settings file.

Correct Answer: BC

QUESTION 2

Which step does a document return to by default, when an approver rejects a document In an Oracle Content Server
workflow?

A. Previous step

B. Previous edit step
C. AutoContribute step
D. Current step
Correct Answer: A

Explanation: Note: The right answer is either Previous step or previous edit step. Because when a document is rejected
it goes to the previous reviewer.

QUESTION 3

Which are two integration methods supported by Oracle Enterprise Content Management Suite?
A. JCA Adapter

B. Application Extension framework (AXF)

C. 1SR170

D. VRS

Correct Answer: AB

QUESTION 4

What is the common feature of Oracle Document Capture and Oracle Distributed Document. Capture that help leverage
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corporate data to dynamically index documents?
A. Audit Table

B. Separator Sheet

C. Database Lookup

D. Data Link

Correct Answer: C

QUESTION 5

Which two optional components are integrated and used with Oracle Site Studio?
A. WebDAV

B. Dynamic Converter

C. Content Access

D. Verity

Correct Answer:. AB

QUESTION 6

Which two statements are true about Oracle Content Portlet Suite?

A. Its dispatch configuration file defines the action handler, tile, and Information about the portlet itself.

B. Its component file defines the action handler, tile, and information about the portlet itself.
C. It provides access to Oracle Content Server.
D. It provides access to Oracle Portal.

Correct Answer: AB

QUESTION 7

Which two predefined security groups come with Oracle Content Server?
A. Secure

B. Private

C. Public

D. Guest
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Correct Answer: AC

QUESTION 8

Which two statements are true about multisite WCM?

A. It is based on the Oracle Universal Content Management architecture.

B. It is based on the open WCM standard.

C. It can de-centralize the control of site architecture, navigation, and presentation.
D. It can centralize the control of site architecture, navigation, and presentation.

Correct Answer: AD

QUESTION 9

An XML file that stores all information about a Site Studio Web site on the content server is known as the .
A. Configuration File

B. Project File

C. Date File

D. Template File

Correct Answer: A

QUESTION 10

Which two types of HTML WYSIWYG editor are supported by Oracle Site Studio 11g?
A. WYM editor

B. LyX editor

C. FCKI/CK editor

D. Ephox editor

Correct Answer: CD

QUESTION 11

During documents capture, when you have a batch of many which pages, what is the main factor in determining which
pages are grouped together in the same document?
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A. Same indexes

B. Same separator sheet
C. Same number of pages
D. Same color

Correct Answer: B

QUESTION 12

Oracle Site Studio\\'s contributor editor window has one or more form fields, one for each in the data file associated with
the current contribution region on the Web page.

A. Fragment
B. Element

C. Placeholder
D. Region

Correct Answer: D

QUESTION 13

Which action enables one to view the disposition schedule for a records/folder in Oracle Universal Records
Management?

A. Recent Reviews
B. Metadata History
C. Life Cycle

D. Freeze

Correct Answer: C

QUESTION 14

What is the core piece in Oracle Enterprise Content Management that acts as a repository in Oracle Enterprise Content
Management Suite?

A. Content Server
B. Commit Server

C. Metadata Repository
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D. Enterprise Repository

Correct Answer: A

QUESTION 15

What is true about Oracle Enterprise Content Management?

A. Itis a policy driven central repository to govern structured content.
B. It is a middleware technology for integrating applications.

C. Itis a single platform to house unstructured content and deliver it in the proper format to multiple enterprise
applications.

D. It is limited to digital content management when the content is unstructured content.

Correct Answer: A
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